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CHILD DEVELOPMENT AND TEACHING METHOD
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(3) dh
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(1) Afufs sgaaa

(2) WA gEas

(3) wHI9Ed FgaLA

(4) Fom s
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(1) =iferma aeR & sueTHd T fed &

(2) ferm gt ) sifiafy &

(3) ftpm @1 sraelieA Yeds wy @ fran W
Al &

» Backward exploration and means-end

analysis are examples of which of the
following?

(1) Algorithms

(2) Mental sets

(3) Heuristics

(4) Functional fixedness

. “Curves of learning give graphic

representation of the amount, rate and
limit of improvement brought about by
practice.” Who said it?

(1) Ross

(2) Ebbinghaus

(3) Skinner

(4) M. L. Bigge

. Which one is not included in

Thorndike’s primary laws of learning
from the following?

(1) Law of exercise

(2) Law of effect

(3) Law of associative shifting

(4) Law of readiness

- Conditioned response theory lays

emphasis on conditioning of
(1) behaviour

(2) thinking

(3) reasoning

(4) motivation

- The other name of operant conditioning

is
(1) instrumental conditioning
(2) classical conditioning

(3) contiguous conditioning
(4) trace conditioning

Which of the following s
characteristic of learning?
(1) Learning is a relatiy,
: el ;
change in behavioyr R
(2) Learning is a gro
(3) Learning is direc

not a

. : tl

< (4) HfuT™ UE asigE i R (4) Learning is a goa]. 3’_ observed
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(1) =m=a 3R fafE sm
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(4) =gt TR wfavmeTeh B
10. difafes § nvE-we=ft afrm aigea |
F9-91 92 giaTya FHar 27
(1) w23 32m
(2) T g
(3) Hiwa v 3
(4) =wE § 8 F0E AE
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12. fa=r # @ F-a1 g3 %1 a 7 27
(1) &=
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11.

)
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7. Kohler wanted to prove that learning is
(1) an autonomous random activity
(2) cognitive operation

(3) a situation in which individuals are
superior to animals

(4) the perception of different parts of
the situation
8. From where to start in order to learn any
new language?

(1) Formation of sentences

(2) Formation of words
(3) Association between letters and
words
(4) None of the above
9. Which type(s) of students is/are

included in inclusive class?

(1) General and specific students
(2)
(3) Only specific students
4)
From the following, which term defines

the mathematics-related learning
disability?

(1)
(2)
(3)
(4) None of the above

Only general students

Multilinguistic and gifted students

Dyslexia
Dyscalculia
Dystopia

Successful inclusion needs

(1) no involvement of parents
(2)
(3) lack of capacity building

segregation

(4) sensitization

12, Which of the following is not the element

of emotion?

(1) Physical

(2) Cognitive

(3) Behavioural

(4)
indiresult.in whatsapp - 9352018749
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13, HTIe &3 1w o @ 13. Which is the correct Sequence of
(1) WH—BHHN‘TJI fysAm_Hyagu coghitive domain?
gAY -39 (1) Evaluation-Application-Analysis-
] ' Synthesis—-Comprehension-
(2)  WEATHA- AT vy Knowledge
3 s . ,
TR (2) Evaluation-Synthesis-Analysis—
(3) FHR-sFwa-Haay-fyveiyo- Application-Comprehension-
W‘Wﬂ Knowledge
(4)  FR-srERIY-gTa- e (3) Knowledg&AppIicatioq-— _
v : Comprehen51on-—AnaIy913~
T skl Synthesis—Evaluation
14. = & 3 SR =9 ﬁmm £ fswa (4) Knowledge-Comprehension-
& 87 Application-Analysis-Synthesis—
Evaluation
(1) SHaE®
14. Which of the following is not a quality
(2) EIE@W of good teaching?
(3) =E=sEr (1) Democratic
(4) =redE gEATd ¥ TN (2) Sympathetic
(3) Autocratic
15. aqﬁq;w = wmn faga fREs g fem (4) Desirable information provider
T 87
15. Expectancy theory of motivation has
(1) =l been given by
(2) TSR (1) Maslow
(3) faFzsm (2) Herzberg

(3) Victor Vroom
(4) Skinner
16. #fm ZEwgms  sfm R wRER W [ g6 o

(4) f&n

which family advance organizer

grafaa 87 model is related with?
1) AmifEE o= Tora (1) Social interaction
2) g T (2) Information processing
3) & (3) Personal

(4) Behaviour modificati
(4) HFER qfTTi ki

17. Which is useful in the transformation of
17, Frel % T % fog #h-w 3gEh @ skills?

) ? (1) Linear programme
i ; (2) Branching programme

(3) Skills transformation i i
(3) e s fd ® 7 f ke not a destination Lo
(4) ) o et (4) Preparation and acquisition
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(3) wiagf (4) WETE
20. 79 ¥ ¥ IH-W gay R H few A
s 7
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+fi i R A
Fﬁﬂﬂ’:f:
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(2) B3R C
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4) A,B3RC
22. 7% BE YT W %, IJWHE AW aw fFE 3

go@| = % 8 e waen T 9 (8T)
Aot S v Fm?

(1) =990 HaE

(2) A g3z

(3) e wae

(4) TEAHY HaEAl
23. Toars & fagra & Agan yrEEfFgTenE sE

& wafa ¥ 27
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(3) =M H AR UA

(4) U= 8 #HE G

&
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18. Which one is not the maxim of teaching
from the following?

(1) From indefinite to definite

(2) From seen to unseen

(3) From simple to complex

(4) From deduction to induction
19. First step of microteaching cycle is

(1) teaching (2)

(3) feedback (4)

planning
introduction
20. Which of the following is included in the
teaching of understanding level?
(1) Application (2)
(3) Abstraction (4)

Comparison

Exploration

21. For educational reforms
decentralization is possible by

effective

A. greater involvement of cluster and
block resource centres

B. availability of local resource person

C. resource and reference material for
the use of teachers

Choose the correct answer :
(1) Aand B
(2) B and C
(3) Aand C
(4) A, Band C
22. A student is reading, someone called
him by name. By which sensation he

(student) will respond from the
following?

(1) Tactual sensation
(2) Auditory sensation
(3) Visual sensation
(4) Perceptual sensation
23. What is the age of preoperational stage
in Piaget theory?
(1) Birth to two years
(2) Two to seven years
(3) Four to eight years
(4) Five to eight years
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(1) =irm F 59 @@ qd

(2) Heha Al
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el =7

(1) 3-6 99 Tg 9§

(2) 8-10 =4 U GHTS{HW

(3) 16-19 I8 wd Aferran

(4) 16-19 98 U HIHIHF

s % wiger wamrs fawm # gdE
ey = 5 | Fa-91 87
(1) Yd-\lF Hae
a4 Hferan zraee
(3) =it Gl eraw
(4) TAATHF MHF Y]
o= 4 & afgm 3 IreEm 3 9 BT
FAE & HIA-91 WA TE BT
(1) 3om
(2) =
(3) #frm 4 g=s1
faugarg =1 w@wy
T 1 @ wmifom gea - 87
(1) wiafae @e
(2) 3« wgf
(3) WETHATIEF HFRR
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Which of the followmg is :;ovtfelo .
characteristic of intcllcctual € P

ment of later childhood?

(1) High interest in science fiction

(2) Increased logical power

(3) Operational planning of career

(4) End of imaginary fears

Which of the following psychologists is
associated with language development’?
(1) (2) Chomsky

(3) (4) Maslow

Thorndike proved his theory titled
(1)

Binnet
Pavlov

trial and error learning

(2) sign learning
(3) cognitive learning
(4) space learning

Gang age associated with age and
delayed development is

(1)
(2) 8-10 years and socialization

(3) 16-19 years and morality

(4) 16-19 years and cognitive

Which of the following is the third stage

of cognitive development according to
Piaget?

(1)
(2)
)
(4)

3-6 years and language

Pre-operational stage
Concrete operational stage
Formal operational stage

Sensory motor stage
Which is not included in

factors that contribute in
the following?

(1) Motivation
(2)
(3) Learning desire
(4)
Which of the following is a Social value?
(1) Primary goal

(2) Instinct

(3) Altruism

(4) Aggression need

psychological
learning from

Interest

Nature of content

indiresult.in whatsapp - 9352018749
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31. ;:1% 3R IEH A W - S ad A
7

(1) oS sEo—spo

(2) ¥= WHAT—

(3) whae—gds fud ‘Foen’
(4) I8 VOF—vRag Rk

32. vaw R IEH Ffa ¥ gm F ww-w gw
TSR 2f

(1) == @ T—Tgd e
(2) BE ¥ EAAl ArSI—uHaR T
(3) 3 =1 anfe IW—seT TR
(4) ==F feeef—mEg g
33. fm-fag 91 gfe & w-w T g 7
(1) =% $9eR, gfe, Fis ot ggurh R

(2) 3EF UM "9-39d, NH-=rR g A
53 911

(3) = " FE = 2|

(4) M9 FAR T AT IR E, A S, A
wT7d 2, a Faf

34. FA-31 7= Tz ad o wHfa & 27
(1) feia
(2) mHa
(3) @AIGH
(4) g
35, ‘v@Eim e # fFEm @
(1) W=
(2) st
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36. = ) 42 § H-an v arypg B
(1) faregoft
(2) 7feoh
(3) fasfram
(4) SR

37. Fr= W & #-w1 g mera 27
(1) e gE—ama #mm <z g
(2) Wt &1 femeT—aa- s FA
@) A T FoT—faw T
(4) TS & ATG—aTedt =

38. U wa wa1 g, U1 AR €|
STeA = s R, =W EfE g dE

37 arR H FH-H1 SAFR 27
(1) sF=fE
(2) I
(3) W
(4) &=
39, ‘g’ # wH-u1 TuE 27
(1) deges
(2)
(3) wsfe
(4) fan
40, ‘Avvfer’  F9-w e {7
(1) &
(2) =y
(3) ege
() fa

indiresult.in whatsapp - 935201874<[J P.T.O



indiresult.in whatsapp - 9352018749
41. ‘witfeeres’ § frg swf w1 wim 7

(1) T
(2) W
(3) Wi

(4) witfy

42. "qodiem’ forash) wfaan 7
(1) gy
(2) T
(3) T T=1
(4) g Bt e
43. Sfe=n’ w1 wiy-fa=sz @ 27
(1) =fe: + =R
(2) =fes + FFR
@) df: + FR
(4) af + FR
44, ‘5% R’ THREh w7
(1) e faz 3uem ‘Efieiy’
(2) TRl far et
(3) HfuEERY 78

(4) A geE

45. fa= & @ gfgn wree %1 =9w Ffow

8

nnnnnnnnnnnnnnnnnn

forér (5o wo 46 3N 47) : o T
frifrfiaa ot 3 @ frske BT

vy, oe-faam, fwm A odwsl TS 31
uraeeR T 3 a1 R ofv sarad A S
FE B wrro-ge 2, 9 Piw wem@ @ e S
wFd 2| TF B o FE S o TE FH Hehdl a1
w1 T s A PR R g A A owrd |
s § et faaerz 3 frm as-Fen = T
e o1, 3 Ry -geier § o] s - Pt
#) dfFa i Afea # fear 41

.
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46, TEGUI-FeA] FT AL 27
(1) ST
(2) ATH-fag™
(3) WMl {THT
4) T IR sl 1 =HE FA

47. TE-Fell %1 fawm ey g a7
(1) J™
(2) T
(3) IAEE
4) fawa 6t o=t g=s
48. f1= # ¥ =ve FH-T1 7E 27

(1) 3 2 =
B 4 ¥
49. T’ we § W gy 27
(1) fag (2) wiuwy
(3) wgshfe @) 3=
50, ‘W'ﬂﬁmmﬁwmg?
(1) &9 (2} A

(3] s (4) 7y
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Te-uft i g

(1) s R (geae s, o, Y yd %'ND'RS
wifem (2) @k

(2) wEA™, wwEwa, sfen (3) feefmi

(3) TvraTE famre (qia forder), wwEwH (4) s

4) TEIYT Y L .
* 57. ‘G#ey weg | IqE| A0

52. ‘v’ = %1 freiw @ .

(1) €9
(1) R @) @%
) S @) @
B, S (4) G
(4) fawfsa

58. U@ @el i g3 TE a1l 3@ A F A=A
53. fome s=wo I F &fdl W sy & @ da i

2, 38 ¥ Fad 87 o e
= gl (2) wHHar=A
B @) F=
(3) 7= e
(4) sTFTE

59, AgMd 3 IS dcHY F HH-H1 Al A 27
54, frafafiaa § @ ‘Tw e’ HH-8 87 ‘

(1) er—ean
(1) w-5-4 o
(2) Stfa—T
(2) -4 _
s (3) QATR—ERIAl
4) Y-SR
(4) A4 @

60, T 3N IFR WA H FH-W1 ST TR 27
(1) weRfy & W sreau—umur fae s

55, ‘arfus’ &1 faeiq Far 27

(1) @A

) . _ (2) Ty-TE—aE HEeR W e

(3) emftma (3) wh=H— s fa

(4) oHH= | (4) 3TIR % FE—ITETE T W e
@ \!Nn sllﬁcE:§nA|n'u ER ) indiresult.in whatsapp - 9352018749
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61. Which of the following words is ‘plural’? 65. “That is the man the police was
(1) Dog seeking.
In the above sentence, what is the
(2) Fox status of the two the’s?
(3) Goat (1) Verb
(4) Mice (2) Noun
(3) Conjunction
62. Which of the following words is regarded (4) Definite article
as singular?
(1) Dogs 66. “These students are most disobedient.”
(2) Mathematics In the above sentence, point out the
gender of the word ‘students’.
(3) Cats
(1) Feminine gender
(4) Cars

(2) Common gender

. 3) M i
63. Which of the following sentences is in ) AscElne geader

active voice? (4) None of the above

(1) He was asked to keep quiet.
67. In the sentence ‘He was going along the

(2) A house was bought for fifty lacs. road’, point out the tense.
(3) I requested him to come in time. (1) Present perfect
(4) He was hit badly. (2) Past perfect

(3) Past continuous
64. Which of the following sentences is in

passive voice? (4) Future indefinite

(1) Please mind your business.
68. Language learning starts from

(2) I kept quiet throughout the

1 o
i (1) writing
2) readin
(3) He was assisted by a group of @) .
students. (3) listening
(4) They came late and lost the match. (4) speaking
% :

indiresult.in whatsapp - 9352018749
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69. What is the main purpose of poetry
recitation in a language classroom?
(1) To know the historical background
of the poem

(2) To enjoy and appreciate the poem

(3) To give their opinions about poem
(4) To become aware of the poet and
his/her work

70. Fill in the blanks with the correct
article : :
Yesterday 1 saw European riding
on elephant.
(1) the, the
(2) a, an
(3) a a
(4) a, the

71. Choose the correct sentence :
(1) Please describe about the story.
(2) Please describe the story.
(3) Please describe of the story.
(4) Please describe to the story.

72. Fill in the blank with correct
preposition :
A prisoner was accused murder,
(1) of
(2) for
(3) to .
(4) Oﬁ' CliJ !NR Sll.BCEilspdkTNill

Bl

783. The antonym of ‘innocent’ is

(1) clever °
.
(2) ignorant
(3) active
(4) guilty
74. The synonym of ‘significant’ is
(1) prominent
(2) magnificent
(3) efficient
(4) important
75. Which one of the following words can be
made plural by adding a suffix ‘en’?
(1) Box
(2) Tax
(3) Max
(4) Ox

76. Choose the correct pronoun to complete

the following sentence :

This dress is and that one is mine.
(1)
(2)
(3)

(4)

our book
yours
your

your book

77. Change the following sentence into

passive voice :

Have the girls asked this question?
(1)
(2)

This question have asked by girls.

Has this question been asked by
the girls?

Has this question asked by the
girls?

(3)

Have this question asked by the
girls?

(4)

indiresult.in whatsapp - 9352018749
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Direction : Read the passage given below
and answer the questions that
(Question Nos. 78 and 79) it.

follow

Yesterday, two brave children of Gangapur
were awarded Brave Hearts Award, They have
exhibited a great spirit of selflessness and
Courage. Harsh, a twelve-year-old boy, saved a
little girl from drowning in the river that flows
along his village. Garima has been awarded
for her presence of mind.

78. Which kind of noun is Gangapur?

(1)

Common noun

(2) Collective noun
(3) Material noun
(4) Proper noun

79. Which part of speech is the word

‘brave’?

(1) Noun

(2) Pronoun

(3)  Adjective

12

INDIRE

YOUR SUCCESS PARTNER

v

7/

@ |

80. Which of the following words 1s a
material noun?

(1) Cow
(2) Gold
(3) Air

(4) Class

81. Which of the following words is an
abstract noun?

(1) Connection
(2) Boy

(3) Woman

(4) Plough

82, Which kind of noun is ‘adversity'?
(1) Commeon noun
(2) Proper noun

(3) Abstract noun

(4) Collective noun

indiresult.in whatsapp - 9352018749
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83. Whi‘?h part of speech is the word ‘hard’ 87. Which of the following sentenccsn“;c;
In the sentence ‘He is working hard’? transitive verb?
(1) Adverb (1) She walks in the morning daily.
(2) Conjunction (2) He is running very fast.
(3) Preposition (3) She writes well.
(4) Noun (4) 1 killed a snake last night.
84. Which of the following sentences has a 88. Which of the following sentences is
‘conjunction’? negative?
(1) She is awfully busy. (1) I come from a rich family.
(2) 1 am nobody for you. (2) You can do all this in no time.
(3) She is poor but she is by nature (3) He does not listen to me.
hospitable.

(4) They are very gentle people.
(4) My grandfather is not well.

89. Which of the following sentences is

85. Point out the sentence which is in exclamatory?

present perfect tense.
(1) What a piece of work is man.

(1) I shall go to Jaunpur tomorrow.
(2) What do you know about ancient

(2) She is very intelligent. India.

(3) Your sister visited us yesterday. (3) Which is your favourite book.

(4) 1 have finished my work. (4) His cruelty knew no bounds.

86. Which of the following is a misspelt 90. Point out the complex sentence.
word? :
(1) They are very wise people.

(1) Desiccation
(2) You know me well.

2) Descendant
(2) cendan (3) She does not sing.

(3) Derogatary (4) One who does not love one’s

country is a wretched person.

(4) Dermatitis o
Paper-1/C @IN ERESULTE gy 'ndlresultin whatsapp - 935201873, | [Pl
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61. T F I=ARU TWH 66. ‘wad’ fpaTae # WO TR, YE9 AR I

(1) %3 (1) g, J9H, THaad

(2) «1g (2) <2, VoW, UHEEH

(@) R (3) iz, ¥, g

(4) 7ul (4) <2, HeH, Sgau
625’1;%%&%@““%“%” 67. 93 TR TE

(1) e (1) 89

2) < .

(3) 9z @)

@) (4) T
63, ‘Re e 3 v sl e & 68. ‘T wa ¥ aw A wim ) 5 aref) vt @

(1) e, e S

(2) fidrn, sgaam @) T

.'i'(a) e, T (3) uaHl

[ @) e, a5 (4) oA

64. ‘7’ s & fawfe it T 3 69. T’ T4 % TN §

(1) W, g ) s

(2) WU, TEHEEH (2) =g

@) e, TETH N

(4) I, THa I
65. ‘wwEf:’ f e 1 A 70. FEH FiE™ TR forefa e &

(1) = R

(2) foama (%)) SRR,

(3) WS g (3) Wty

o oin  (GONDIRESULTE | ) s
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71. =519 9f =1 g 2

72.

73.

74.

(1) wiYgmwq

(4) afEH

‘g’ urg & fF w1 9N A W EY TG40 R
(1) g
(2) wRfa:

(3) wgfa:
(4) dfa

g=Ta e yomed €t 2
(1) W=l

(2) T H

(3) =T F

4) T H

75. 7% 99 ©

(1) &: 78 =l
(2) 7@ T8 Tesfd |
(3) % T8 Tesfd|

@INDIRESULTE

RRRRRRRRRRRRRRRRRR

(4) @ 7% Tl

Paper-1/C
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76. ‘FAsfi’ w2 %: afw?
(1) 3rafa
(2) A&y
(3) "iEy

(@) =

77. et F 7 afewata?
(1)
(2) ETF:
(3) el

(4) ST

78. ‘T #wfu R
(1) < gt
(2) 0w
(3) ==
(4) Lo wFY

79. FEhd ¥ SEWETE AU 6 WEAT 7

(1) w4
() SR
(3) @
(4) W=

80, ‘srgEyy # wrw &
(1) T8

(2) wghfe
(3) sreqivTE

(4) AT
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81. %N W B T B 27

(1) =

82. "TEIHsIuR' g fru RvfRe w5 s 27

(1) fedfen fawfs
(2) 9t fawks
3) gdrm faufe
(4) =gl fqufs

83. SEwEN W= F wiy-fa=dz g

(1) <9 + AN
(2) =eF: + &N
(3) <= + 9

(4) FEFE + AN

84. T F) GeFd 1 FEd £

(1) ==:
(2) o
(3) TG

(4) =T

85. ‘e gafa’ # ‘g@’ # FA-4 A B7

(1) =™

(2) H9EmH

20

B6.

87.

88.

89.

' 90,

‘:unﬁ’mmﬂﬁ,aﬁﬁqm%

) YOI

(

(:"/JlNDmEs

(2] YOUR UCCESS PA
(3) ©H

(4) 4

‘o’ wres &1 =gl T B 2
(1)
(2) A
(3) wm
(4) w3

‘fog’ w2 1 wwHfi, UhEEa ®9 2
(1) fw

(2) fomft

(3) T

(4) feamy

'TF VTR % Swtd &l o
(1) 83,99
) 3% 3,9
(3) § 3,8/, 9
4) HL | T

TIRAR A ) e R
(1) =g

(2) hefi

(3) wRE

(4) STEIRE
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91. 7fe 4/8/2017 H ywan R, & 61 fAl &
a1 -1 5 e

(1) TTEER
(2) qyan
(3) wEimEn
(4) IR
92. TRy fa
P M
o ;/\n
noJ e
/‘ /
& /y 12;;/ 25
Q N
3§ AB||CD, 78 y°-x° % WH ®
(1) 107 (2) 20°
(3) 30° (4) 40°
93. aft fl THER A TH WY A 390 W
T3 W 20% F1 @ &l €, dl 9% H FA-
ed 2
(1) ¥321 (2) €323
(3) ¥324 4) €325
o4 afz Tt 3@ F FHEEN 60000 ¥ FEH
65000 7 Wi &, W wwe d &
(ufea &) 2
9 1
M 7= 2) 83
1 1
(3 72 (4) .85
os. 40 =fm 30 f&di # 200 kg ®EA @
ﬂmﬁﬁﬂ‘fﬂaowﬁﬁsoomwmﬂﬁ?
(1) 120 (2) 80
(3) 90 (4) 100

PART—IV /-_
&

91, If it is Friday on 4/8/2017, then what

will be the day after 61 days?
(1) Tuesday
(2) Wednesday
(3) Thursday
(4) Friday
92. In the given figure
P M
110° /:d“\

AB||CD, then the value of y°-x° is

(1) 10° (2) 20°

(3) ,.307 (4) 40°

If by selling an article for ¥390, a

shopkeeper gains 20%, then the cost
price of article is

(1) %321
(3) €324
If the population of a town has increased

from 60000 to 65000, then the increase
in population (in percent) is

93.

¥323
¥325

(2)
(4)
94.

9 1
n 72 @) 8,
B} T @) 8
4 9

95, 40 persons consume 200 kg of rice in

30 days. In how many days will
30 persons consume 500 kg of rice?
Wy 120 (2) 80

(3) 90 (4) 100

—

@!NP&E‘“

!
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\
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96. TF wH=gys & fast f) wwagat 16 em aun
12 cm 8| GREGHS & o R
(1) 7em (2) 8 em

(3) 9cm (4) 10 cm

97. vom f # Y@ PAQ T9 I fag A w v
A R 0 ABCD U T Wi R

&

gt ZCAQ=70° 8, T LABC?®
(1) 70° (2) 80°
(3) 110° (4) 90°
98. 7 8 W F FI-T9 6 W1 & fIFa-13 &
R B, A A e #
(1) 115% (2) 131%

(3) 33%% (4) 25%

99.ﬁmﬁﬁﬁq—¥ﬁqﬁﬁam-§ﬁﬁgéﬁnw
T2 = Y

19 2
= e
1 35 Bz
7 16
) " &

100. 3f2 3 3, 2 e R 4 W F T T2 ®
g1 8 Afgd 2 16 T #1 o4 €68 §, T«

24 94 1 564 B
(1) €625 (2) €500
(3) ®675 4) €600

101. 79 TF s A1 T A6 F wEd §, AR e
femn e #
(1) @ = 3w e
(2) Faa dF gt
(3) Fad o= F:0
(4) B g ot 3T WA w0

-

INDIRESULTH

he lengths of diagonals

96. In a rhombus, t12 cm. The side of the

are 16 cm and

rhombus 18

(1) 7 em (2) 8cm

3) 9cm (4) 10 cm f
i nt o

In the given figure PAQ 18 the tangent ¢

the circglc at point Aand ABCD 1s & cyclic

quadrilateral.

97.

[N
K5 /\
B

P 7 Q

If ZCAQ=70° then ZABC is
(1) 70° (2) 80°
(3) 110° 4) 90°

98. If the cost price of 8 pens is same as the

selling price of 6 pens, then the gain

percent is )
(1) 11-12% (2) 133%
(3) 334% (4) 25%
99, Which of the following rational
numbers does not lie between :—53 and %?
19 2
1) — oy =
(1) — (2) 3
7 16
3) — 4) —
ST (4) 0
100.

If the price of 3 pens, 2 pencils and
4 erasers is ¥92 and the price of
8 pencils and 16 erasers is 68, then
the price of 24 pens is

(1) 625 (2) ®500
(3) ®675 (4) ¥600
101. We cannot construct a triangle, if we are
given
(1) two angles and one side
(2) only three sides
[3: only three angles
(4

two sides and included angle

% @14 % fé0 W% / SPACE FOR ROUGH WORK
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=
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102. 3f2 feh symaren spave # emand ot dard
T R 50% AN 20% H K H A W, a@
THH A% e 1 | sy

4 .
1) 1g () 14

@) 2 4 %

103. 9= 77y ¥ TR %1 419 37 °C B BRARER
¥ & 9 o R
(1) 984 °F (2) 986 °F
(3) 98 °F (4) 988 °F

104. 3R 124224 .+92=285 @, @
(0:11)2 +(022)2 + ... +(0-99)2 F1 M ?
(1) 2-3485 (2) 024485
(3) 3-4485 (4) 0-34485

105. Ts T |19W0 S5 9 10 991 & g1 8 S
2| e adl § 9r Ufdr 3di s & far @
Srei?

(1) 3094 (2) 25 a9
(3) 2099 @) 1539

106. 80 m FM A TH JAER Uk F AN
sfuman &9%a F TF TNHR Td H ACH
11 2| B4 F B2F F1 4954 ©

(1) 6400 m? (2) 1600 m?
(3) 3200 m? (4) 12800 m?

107. 240 @ # ww whe A fEh whanedfl 3
szmaﬁaﬁmmﬁmﬁmw

F &

OINDIRESULTE

YOUR SUCCESS PARTNER

102, If the length and breadth of a
rectangular plot are increased by 50%
and 20% respectively, then how many

times will its area be increased?
(1) 1% (2) 14
@ 4 ) %

103. The temperature of a normal human
body is 37 °C. In Fahrenheit scale, this
temperature is

(1) 984 °F (2) 986 °F
(3) 98 °F (4) 988 °F

104. 1112 +22 4. +92 =285, then the value of
0112 +(022)2 + ... +(0:99)2

(1) 2:4485 (2) 0-24485
(3) 34485 (4) 0-34485

105. A sum of money at simple interest
doubles in 10 years. In how many years,
at the same rate, it will be tripled?

(1) 30 years (2) 25 years
(3) 20 years (4) 15 years

106. In a circular park of diameter 80 m,
there is a square-shaped playground of
maximum area. The area of the
playground is

(1) 6400 m? (2) 1600 m?

(3) 3200m? (4) 12800 m?

107. In an examination of 240 marks, a
student scored 52 marks. In pie-chart,
the corresponding angle is

(y 78° (2) 78° 1) 78° ) 78°
(3) 63° (4) (213)° (3) 63° @) @13)e
e = 1% @14 % {60 TR / BPACE FOR ROUGH WORK
@|N IRESUL " indiresult.in whatsapp - 9352018749
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e Pl P% 36 B, @1 P Stat 2

UCCESS PARTNER

qual to

#)WoiReSULTE

of P is 36, then P is €

oy 108, If P%
(1) 3600 (2) 600 (1) 3600 (2), 699
3) 15 (4) 60 (3) 15 (4) 60
Ll t I|
109. ?—]i\d 2,352 :.2,\"x 3?}' % ‘?Z. T x 'i-y+z - 1009, “. 2352:2)( % 31‘)‘ % ?Z, thcn the Va]ue Of
o 8 X+ y+z is
o T
(1) S 2) 7 (1)) 6 (2)
4) 9
(3) 8 4) 9 (3) 8 (4)
: divisors of 100
110. 100 % §9 Y&] 6 9@ anf 110. 3;1? br;umber of even
(1) © 2) 5 1) 6 @) 5
(% % 4 8 @) 7 4) 8
111. 15 cm %51 1 781 99 § @ 3 cm ¥ 9 | 111. How many cubes of side 3 cm can be
kN T 99 =2 S gFa 87 separated from a cube of side 15 cm?
(1) 25 2) 27 (1)7°:25 (2) 27
(3) 125 @) 144 (3) 125 (4) 144
112. 31989 3 7 4 ym QY w !ﬁm.ﬁn 112. 1f 3'989 s divided by 7, then
: remainder is
(3) 8 (4) O 3) 8 @) 0
113. U5 9§49 % 00 1 A 2160° ¥ | 113. The sum of interior angles of a polygon
T A gl A v is 2160° The number of sides of the
(1) 12 (D)3
(1) 12 2) 13
(3) 14 (4) 15
EIRR (4) 15
114. Had e A0 39T oIl # 114. The least non-nepati - .
(1) o @) 1 1 gative prime integer is
) o (@) 1
(3) 2 (4) 3 3 ‘
3 2 —_—
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115-(15111%“}-]]1%.;.]ll]%]ﬂ{ﬁﬂ% 115(|1+111+1111‘F|1111)136qua]to
1) 1236 % (2) 1233 % (1) 1236 (2) 1233
(B) 1263 % (4) 1239 % (3) 1263 (4) 1239
116.?‘% }‘{Qﬁ Wﬁ—ﬂ; H@’T:&ﬂ a 3ﬁ]\ b -a’ %ﬂ, 116. If ﬂ*b=02+b2"-ab for all natural
axb=a?+b2-ab 8, T O 10 1 WH § numbers a and b, then the value of
O%10 i
i 3 ¥ (1) Qi)s (2) 91
3 )
- A8 () ~18@ (3) 181 (4) 182
117. ?TE x 3R 2y 3!;‘-3?1{ aredfas weard @, BT Mox and y are non -zero real numbers,
i e then x2 +xy + y°
(1) == Fomes R (1) is always negative
2) x3IyH o= =k (2) takes the value zero for some x
(2) Yys o A
(3) N T R and Y
(3) is always positive
G 1:11% UL T T (4) takes both positive and negative
o] values
118. ¥=ig 93 118. The number at the place of * in the
= e AN o adjoining figure
3 2 7 5 e e e 21
[a]7]6] [3]s]1] [8]1s]e] [6]*]4] 3 2 ! 2
[4]7]6] [3]5]1] [8]15[6] [6]*]4]
[ 1] 4] 2] 4
(& 1 il | 2 7]
T + % TUH W w2l
(1) 8 (2) 9 will be
: 1) 8 2) 9
(3) 10 @ 11 (1) @)
| C (3) 10 4) 11
110. 3f2 4 @ Tl &N a N b % for
a? =125% i 119. Ifbfor any two natural numbers a and b,
3 f aP =125, then b? is
(1) 1 Bl == (1) 241 2) 242
(3 243 (plies’ (3) 243 (4) 247
120. 1 4 10 7 &1 w4 !”?]  wene d 120. The least number, divisible by all the
faurfora 213 Al Fad B18 wEAl B natural numbers from 1 to 10, is
(1) 5040 (2) 2520 (1) 5040 (2) 2520
(3) 1000 (4) 100, (3) 1000 (4) 100
o 7% @14 % {0 STE / SPACE FOR ROUGH WORK
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121. 98 ¥ 19 gaE UF wigen s ) e
'?

121. Who among the following is the present
Chairperson of the National Commission

(1) P = for Women?
@ (1) Girija Vyas
(3) wiferdl wera (2) Rek.ha.a Sharma
(4) TEHH TN (3) Malini Bhattacharya
(4) Yasmeen Abrar
- 5 F. W L ¥ e % T 122. The joint sitting of the Lok Sabha and
- kg the Rajya Sabha of states is summoned
(1) Tl %
2) % T F Ay (1) the President
3) b (2) the Speaker of the Lok Sabha

(4) TST W F AW
123, F9uE ¥ 55 v # darad aeerak g

(3) the Parliament
(4) the Chairman of the Rajya Sabha

yEayH B e 7 " 123. Which Part of the Constitution has the
(1) IX (2) VI provisions for Panchayati Raj System?
Y IX 2) VI
(3) mI @ Iv (1) (2)
(3) I 4 v

124. 743 BfagE GO 1 gy ¥
(1) T " EeEE B
(2) &l wrE =EmET |

124. 74th Amendment of the Constitution is
related to

(1) Rural Local Self-Government

(3) wgafa F it | (2) Urban Local Self-Government
(4) H@e F whwdl A (3) Powers of the President
4) Pow f the Parli
125. f5m 7@ % anf % urhl 4 ged ¥ aui #1 o & i Rl
o 2 125. Which of the following gases soluble in
1) T et rainwater causes acidic?
) : A | (1) Hydrogen peroxide
@) : — (2) Nitrogen monoxide
@ — (3) Carbon dioxide
(4) Sulphur dioxide
126, ¥y dfqum 7 ‘fafy # we’ fem wel @ ,
sl 126. Rule of Law’ concept has been taken in
' the Indian Constitution from
(1) smil (1) USA
(2) ¥evE (2) England
(3) fegsave (3) Switzerland
(4) smEvE _ °, (4) Ireland-
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127. 9% 1 ¥ wm 3 s .
ETtIY st #a o

(1) A &1 Fatem sy
(2) Tgufq

(3) T waTe™

(4) % w1 wivarem

128.?@?{%41%%@%;:%&@@%@%

(1) wESiN® &
2) ToRiwftER w
(3) I T
(4) T wS

129. ‘INi-9a Hugw w1 27
(1) g% S 1 U8 3 ISR
(2) S-S 1 SHIE 3R WIS
(3) 9 = T
(4) 93 & | Fi T

130. 9RdE f21 Fal wwida 27
(1) e A5Hd 9T
(2) SO A9 9
(3) EEIG FIHA U
(4) TR 37ee 9

131. 7= § @ F-71 #A gitfefos 93 § =
waR & gay 3 gd 27
(1) SEHEEF—ATHZHF—3UHIH
(2) ATHZH—ITIHIFI—ITEF
(3) SEAEFH—IIHIH—ATHES
(4) SYHIEI—IAEH— ATHLS

132, FA-d HaeEe fw awEe d gaq s
w1 # guftud et 87

(1) A
(2) waH
(3) A BRATAIEE
(4) B&A

Paper-1/C

%IN IRESULTE

127,

128.

129,

130.

131.

132.

Who carries out notification for the
election of the Lok Sabha?

(1) Election Commission of India
L
(2) The President

@) Home Minisry (Z2)INDIRESUL

(4) Lok Sabha Secretariat

The first hour of business of the Lok
Sabha is known as

(1) Public hour
(2) Privileges hour
(3) Zero hour

(4) Question hour

What is Rainwater Harvesting?

(1) Collection and storage of used
water

(2) Collection and storage of rainwater

(3) Distribution of water

(4) None of the above

Indian Rhinoceros is protected in
(1) Corbett National Park

(2) Kaziranga National Park

(3) Bandipur National Park

(4) Gir National Park

Which of the following series is true
about energy flow in an ecosystem?
(1) Producers—Decomposers—

Consumers
(2) Decomposers—Consumers—
Producers
(3) Producers—Consumers—
Decomposers

(4) Consumers—Producers—
Decomposers

Greenhouse gas, which is present in the
highest quantity in atmosphere, is

(1) propane

(2) ethane

(3) carbon dioxide

(4) methane
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133. g avls ) ufeafa & wwo dd & E 87 133. Plants are green due to the presence of

B AT I which pigment? =
~ W\[tﬁj (1) Carotenoid F//"
e | (2) Lycopene /,/)IN RESUT
4) TR (3) Anthocyanin
. Bl (4) Chlorophyll
i A s 49 . 134, Human activities that cause climate
e ‘ 8 R change on the earth include
(1) w70 (1) burning of forests
@) F frem (2) agricultural activities
(3) THREW H F I (3) use of aerosol cans
(4) Sugw B (4) All of the above
135, geiawdl el A FR-H w6 s9ESE | 135. Which crop belonging  to the fanqily
ITE W & oy S ST 20 Euphorbiaceae is known for producing
(1) 2= biodiesel?
L 1) Jatropha
2) ¥eee & (
9 - L (2) Candlenut tree
B Tk (3) Copper leaf
(4) =TT -

(4) Sarpagandha
136. SA-aRF H TH W@ A wE@ uf

w521 31 9 Amdim 9) 5 feg v A wew
2 ¥R z@® gEWid®  (scientific) ™
ArEa f929 B 96 gWEa: 6 AW ¥

136. The Queen of Herbs’ is the most sacred
herb of India. This medicinal plant has
importance in Hindu mythology and has
the scientific name Ocimum Sanctum.

S ST 27 What is it commonly called?
(1) o= (1) Tulsi
(2) T (2) Rosemary
(3) ZEEEA F Fd (3) , Thyme
(4) gfmm (4) Coriander
137. T3 % mw ol F) 1 FEd B7 137. The water that is safe to drink is called
(1) F3 - T (1) potable water
(2) distilled water
2 EG|
:3; gw (3) freshwater
(4) =@ %1 9 s it i
138, The Bhopal ;
138, @i 1984 # v g awd fie § A fra o (l}:;k:gr: gi?y 0;:. 1:841, o
ﬁq % m % m E‘ m? fOllOWil‘l WS 8 5
g gases?
(1) frargs sgdamaz (1) Methyl isocyanate
 (2) ATEzE HTeaTEe (2) Nitrous oxide
_ B e  (8) Methane
<« (4) FEA HAISATREEE (4) Carbon monoxide
(#INDIRESULTE
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139. Tova yaiaw Raw’ ww war s 27
(1) 2 Ry
(2) 16 THyamn
S ¥
(%)

11 gemg

L1
o

140. Wo THo TN U
(1) TR
(2) ¥R w9
(3) uritfeufashl Sgfs
(4) usf 9§ 9

141. STEESTEE SRR A% 3T (SYo HRe
Hgo) Fel @ B?

(1) =S

(2) HEEg

(3) SEHIETR

(4) <Eug

142, vEE-goEn % dnm w08 fm d @ R

drE ©id 87

(1) Fiferm

(2) ATEZA

(3) FTEA TEATHAES

(4) A=A

143, o 3 ) @R AR S F FE S e
(1) goEse
(2) wE=Ef
(3) wmEMEf

(4) TEEAAE

144.anzﬁmﬂﬁsama?fm‘fmaﬂﬁ?
(1) - fagga

139.

140,

@)

141.

142.

143.

144,

The World Environment Day falls on
L

oand December

(1) "y
16th Septembe rg//a !N pIRESULTE

(2)
(3)

SUCCESS PARTNER

5th June

(4) 11th July
M. S. Swaminathan was
(1) a journalist
an agricultural scientist
(3) an ecologist
(4) an ornithologist

Where is Wildlife Institute of India (WII)
located?

(1) New Delhi
(2)
(3)
(4)

Coimbatore
Ahmedabad
Dehradun

During photosynthesis, which of the
following is absorbed by green plants?

(1)
(2)
(3)
(4)

Helium :
Nitrogen
Carbon dioxide

Oxygen

The organisms which feed on the waste
products are called

(1)
(2)
(3)

(4) chemovores

detrivores
carnivores

herbivores

What type of energy is derived from
heated groundwater?

(1)
(2)
(3)
(4) Nuclear energy

Hydroelectric energy
Solar energy
Geothermal energy
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145. el HTHEe w9 5§ 145. Shola grasslands are found in
(1) ufyendft gre (1) the Western Ghats .
(2) gdT uR (2) the Eastern Ghats %WNRESULTE
(3) fRurem (3) the Himalayas
(4) Reass (4) the Vindhyans
146. ya # ey gaf wel s w@ #7 146. In India, pelicans breed in
(1) =g (1) Nelapattu
(2) FTYHEH (2) Koonthankulam
(3) FIER @ (3) Kokkare Bellur
(4) gqgi;ﬁ asf (4) All of the above

147. ‘dmm A U Ao @m @ g 8, el 147. ‘Minamata disease’ was caused by

37fere g ® 9T oA B eating fish which have high levels of
(1) &S (1) arsenic
(2) W™ (2) mercury
(3) FshEm (3) cadmium
(4) All of the above
(4) 3 wh |

148. Maximum ozone depletion has been
148. 3 T 31 sfwwe g F 4 3 e w observed in which of the following?

gen ¥ (1) The North Pole

(1) 390 g3 (2) The South Pole

(2) EF&T"ﬁ ¥ (3) The Equator

(3) @EETEl (4) None of the above

(4) 9% A & w7

. 149, Who among the following was the first

149. T8 ¥ &4 ¥Rd %1 998 g g 917 Chief Justice of India?

(1) THo Yawfer T (1) M. Patanjali Sastri

(2) el == HESA (2) Mehr Chand Mahajan

(3) FITETe Ao Fifa) ) (3) Hiralal J, Kania

(4) THo Ao FH ; (4) S. R. Das
150, g 221 9% forma wrafom B7 150. The ‘Red Data Book’ is related to

(1) et & g (1) pollution in rivers

(2) e s S -wa (2) decreasing underground water level

@) ﬁﬂﬁ' ¥ s A (3) animals near extinction

(4) Y g X (4) air pollution
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